¥ B B B &

ftERS LEFE6H1=
T = 4  REMNEKEFREIE



TH6EE

RiithNEKERBRIE
(HEET b HhR)

B B B &




1. FREERER




HPPE @75 A-ACHNIE) D&

HHBEE ()

ABRER ABRERCGH K1) DER#R & &t
Ii& [a—F oM A T % BT # =
EEA|EEXR | EEA | EH%R| K F A EFER|EFR| FFE | TFH%
EFRZTEE @75 X 22 1 23
EFV4 vk @75 s 1 1
EFRZIFARUE ¢ 75 % 45° s 2 2
EFFZIFSRUK & 75 X 450H s 1 1
EFfZF—X $75% ¢50 v 2 2
EFfiZF—X PI5X P15 A 1 1
EFLTa—4% $100X ¢ 75 s 2 2
EFOS U ¢ 100 i 2 2
P i) ¢ 100 fyk 2 2
PEfEL O EHSTTFE P15x 975 T 1 1
PEfELOfY IR —ILEIF | 675 = 1 1
M BEigvyubk ¢ 75 HPPEXVP 7 1 1
#E H=286 T 1 1
L e H=150 r 1 1
HEpEE H=300 A 1 1
TEREE H=300 r 1 1
JERR H=40 r 1 1
R#gHRILbyh vk 1 1
ERIETRY—b W=150 m | 112122 6.504 118.626
By —T42 9 94¥— m | 112.852 7.269 120.121
A#RERFrvT (EBkE) @75 r 1 1
TS¥vv S 075 i 1 1 2
il W DG ¢ O WNHOEBRE 65 H 1 1
# [GACFis H=200 FCD #{&x ¢75 H 1 1
D% i) 975 vk 3 3
%= H=100 oA 1 1
AR H=200 i 1 1
TEREE H=300 oA 1 1
ERR H=40 T 1 1
R#F Ry vk 1 1




HPPE 50 B-Ci&z

HHEBEE (2

BER#R CRE#R & &t
Ii& [a—F oM A = Bifiy # =
EFEAN|ZEXR | ZFA | EEXR|TEH|ETER| TFH|EER| TFal | TEH

EFRZTEE $50 X 1 1 2
EFAZSRUR & 50 X 450H i 1 1
EFISVUE $50 i 1 1
ISV MEM $50 vk 1 1
EFEZYVIL —ILittH# $50 = 1 1
EREVryE HPPE50 X VP40 i 1 1
#%E H=286 T 1 1
REYLY H=50 r 1 1
L THEREE H=300 v 1 1
JERR H=40 r 1 1
BRIy vk 1 1
M EERIE R —b W=150 m 3.881 4.785 8.666
Oy —T42 994 — m 3.881 5.486 9.367
TS¥ vy ®40 i 1 1
TS¥yvS ®50 s 1 1
VPRI7—/\yY @40 = 1 1

#




HPPE® 75 A-ACHN#2) -DEEER mMIER ()
AR ARRERCHE K1) DEE#R & it
I3 |a—F o # £ Tt By 4 = i
FRA E R R TR TR R | TR T ER|TRAMETER|TEAMEER
BKERIIER 75 m | 112.852 7.269 120.121
R)EMET ¢ 75 (EFER) m | 112,122 6.504 118.626
RYE#HFT ¢ 75(EFEE) 147 /20 TR 3 1 4
i) RYEHFT 75 EFER) 1410 IR 28 3 31
RYETET @15 =] 3 2 5
BREYIMT 75 m] 1 1
EEEYET 75 m] 1 1
IV DHFRILT ¢ 100 m] 1 1 2
ERERET 75 m 1.000 1.000
EEERBET ¢ 75 m 1.000 1.000
TURBET ¢ 75 TR 1 1
ISUTHMTT ¢ 100 m) 2 2
AAZHILBFT 75 m] 2 2
REAFERET $%Z H=286 paiil 1 1
HEORRVIREET HEREE H=150 il 1 1
HEOHERVIREET &R EE H=300 paiil 1 1
HEORRVIREET T H=300 il 1 1
HEOHERVIREET JERR H=40 paiil 1 1
HERR—LT W=150 m | 112122 6.504 118.626
EHRT LT W=50 m | 112.852 7.269 120.121
Oy —T42 9 IAXY—HET m | 112.852 7.269 120.121
FryTHRETL 75 g 1 1
TSFryTHREL 75 =] 1 1 2
HARREBRET BO ASNEHRAE 065 el 1 1
TS5V MFET @75 a 2 2
BHERET H=100 paiil 1 1
HAERYIRBET L ERBE H=200 paiil 1 1
HAERYIREBET TEREE H=300 paiil 1 1
HARRYIRBRET JERR H=40 paiil 1 1




HPPE ¢ 50 B-Ci&#s MIBER2)
Bi& 1 CER#R & it
I3 |a—F o # £ Tt By 4 = i
FRA E R R TR TR R | TR T ER|TRAMETER|TEAMEER
BKERIER ¢ 50 m 3.881 5.486 9.367
RYEMET ¢ 50 (EF#ES) m 3.881 5.486 9.367
R)ERFT ¢ 50(EF#E&) 14 FI10 Vi 3 2 5
RYETET ¢ 50 TR 1 1 2
EEEYMT ¢ 40 m] 2 2
EEEYET ¢ 50 m] 1 1
2V CHFRNMNLT $50 m) 1 1
BEEBET ¢ 40 m 1.000 1.000
EEERHET ¢ 50 m 1.000 1.000
IS5V MFT ¢ 50 A 1 1
ANZHILMET ¢ 40 m) 1 1
i ANZAIMET $50 m 1 1
HEUEFET ¢ 50 Vi 1 1
RUAFEFRET $%3 H=286 il 1 1
HEOHERYIREET SR >4 H=50 paiil 1 1
HEORRVIREET L+ FEREE H=300 il 1 1
HEOHERVIREET JERR H=40 paiil 1 1
HERR—LT W=150 m 3.881 4.785 8.666
BERRT 7L W=50 m 3.881 5.486 9.367
Oy —T42 T4 —HET m 3.881 5.486 9.367
TSEryFHRET ¢ 40 m] 1 1
TS¥ vy IHRET ¢ 50 a 1 1
IF7—N\yIERET ¢ 40 L 1 1




HPPE ¢ 75~ ¢ 50 A~DE&#R

BT #4E % (3

A~DE&HR & it
I3 |a—F o # £ Tt By 4 = i
FRA E R R TR TR R | TR T ER|TRAMETER|TEAMEER
18 8l T T ®# (—R m3 72.46 72
T BRI JIIES m3 21.01 21
BRI BAL m3 43.20 43
BIosT T BT (=R m3 72.46 72
T
(fHET)
SHEVIERT t=20cmELF (—%) m 250.79 251
o YT t=20cmBlF (Z3R) m | 25079 251
FAI7ILREUERL FAREE (—R) t=4cm m2 75.24 75
FAI7ILREREEL FARE (ZR)  t=4cm m2 | 150.48 150
EionT TARS VM99 t (—R) m3 3.01 3 707 t
EiunT TARA VIR t (ZR) m3 6.02 6 14.15 t
XBET B H$i13Top.t=4cm(— %) m2 75.24 75
B I BEH13Top t=4cm(=R) m2 | 150.48 150
BiET RC-30 t=10cm m2 75.24 75
%®
T
T
2
T

HHEE™




o
I




HPPE ¢ 75 ABE# ¥ # B =
HPPE ¢ 75 & &
a—kK E £ 112.852 112.852

o H & = B L

EFRYE @75 m | 1.000 8.300 8.300
EFZUE @75 m | 1.000 6.700 6.700
EFRZITES @75 A | 5.000 19 19
EFEZHFARUE @75 %45 7 | 0376 2 2
EFE®%F—X @ 15X 50 4 | 0.078 2 2
EFE®%F—X PI5X P75 4 | 0.078 1 1
EFLTa—4% $100% ¢ 75 4 | 0.405 2 2
EF7S U8 ¢ 100 4 | 0.163 2 2
ISVIMEM ¢ 100 vk 2 2
PEfEL O EETFE PI5x 975 7 | 0730 1 1
BEERS—k W=150 m 112.122 112.122
Ay —T42 7 74 ¥— m 112.852 112.852
ERERAY YT (EKE) [075 T 1 1
TS¥vvS 75 T 1 1




HPPE ¢ 75 ARR#R GE 1)

B

#

%!!I

L

HPPE ¢ 75 &
a—FK T &
o H & T #% BfT
bl W P HBO RHOEISE $65 H 1 1
Ll Fin H=200 FCD & ¢75 #® 1 1
ISVIMFEM @75 vk 3 3
fhE H=100 A 1 1
L EpEE H=200 T 1 1
THEREE H=300 T 1 1
EAR H=40 T 1 1
BEERILE Y vk 1 1




HPPE ¢ 50 BE&#% ¥ # B =
HPPE ¢ 50 & i
a—kK £ 3.881 3.881
o H A = B L
(EFf%F—X) ¢ 50 0.270 (1)
EFRYE & 50 m | 1.000 2.550 2.550
EFHZSAUR ¢ 50 X 450H 4 | 0901 1 1
EFOSUUE ®50 4 | 0.160 1 1
ISVIMFEM $50 vk 1 1
BEERY—b W=150 m 3.881 4
Ay —T42 7 I4¥— m 3.881 3.881
TS¥vv S $50 T 1 1




HPPE ¢ 50 CR&#% ¥ M 9 =
HPPE ¢ 50 & =
a—kK E £ 5.486 5.486
o H & T #% Bz L
(EFf%F—X) ¢ 50 0.270 (1)
EFRYE $50 m | 1.000 4.400 4.400
EFEZYIr—ILEYIF| ¢50 # | o701 1 1
ERERYTIb HPPE50 x VP40 7 ] 0115 1 1
fhE H=286 A 1 1
FEE) Y H=50 T 1 1
+ TEREE H=300 T 1 1
JEAR H=40 T 1 1
REERILyE bk 1 1
BEMER—b W=150 m 4.785 4785
O —F429 74— m 5.486 5.486
TS¥vvS ®40 T 1 1
VPERIZ—/\vs ®40 H® 1 1




HPPE ¢ 75 DEf# ¥ # B =
HPPE ¢ 50 & i
a—kK E £ 7.269 7.269
o H & T #% B L
(EFf%F—X) ¢ 50 0.265 (1)
EFRYE @75 m | 1.000 2.400 2.400
EFZUE @75 m | 1.000 2.600 2.600
EFV4 vk @75 T 1 1
EFFZFSRUF & 75 x 450H 4 | 1.009 1 1
PEELOY TN — LS| ¢ 75 H | 0765 1 1
EEVryk ¢ 75 HPPE X VP 4 | 0230 1 1
& H=286 A 1 1
L EpEE H=150 T 1 1
A EE H=300 A 1 1
TEREE H=300 T 1 1
JEAR H=40 T 1 1
BEERILE Y vk 1 1
BEERS—k W=150 m 6.504 6.504
Ay —T42 7 74 ¥— m 7.269 7.269
TS¥ry S 75 T 1 1




HPPE ¢ 75 HPPE ¢ 50
Y o BB = v % B OB R
L= 500 m L= 500 m
EiE | BRR|ER (V| PUE RIE| ZUE | B T | BRI (FUM BRE| WO EiE | BRI EER| M-t | FUE [BRE| ZUE | B B | BRIR (RS BRR| O
HPPE) | A | @75 | A 1.500] A 3.500 1 (HPPE) | B | ¢50| B 2.450
2.55
HPPE) | A | @75 | A 3.100{ A 1.900 1 (HPPE) | ¢ | ¢50| ¢ 4.200
0. 80
HPPE) | A | @75 | A 3.700{ A 1.300 1
(HPPE) | D | ¢75| D 2.300] D 2. 600 2
0.100
& & & O & 3 & O
(HPPE) | A 3 A 8.30[ A 6.70 A 3 (HPPE) | B 1 B 2.45| B 2.55 B
D 1 2.30| D 2.60]  0.10 D 2 c 1 c 4.20 0.80 c




T T &K & af &

L

oy Z D ETE
T TiESE
+I@ 0.731 0.731
+I® 112.121 2.565 114.686
+I® 0.270 5.286 5.556
+TI@ 4.425 4.425
+I6 3.430 3.430




HPPE ¢ 75-HPPE ¢ 50 TIGHERSE
X5 (Z DHhETE) ()] +I® +I® () +T®
T & H=0.80 H=0.80 H=0.80 H=1.20 H=1.20 & F
L= 0731] L= 114686] L= 5556| L= 4425 L= 430 L= L=
a—FK £ #R A& B | BAaKE = HUHE #¥ = s 2 |BEKE = HUHE ¥ = |BEuH=E 2 |BEHE 2
AT T ® R m3 0.59 0.43 057 6537 0.56 3.08 0.81 3.58 72.46
AT T8 (R m3
BRI N&p m3 0.18 0.13 017 19.27 0.16 0.87 0.17 0.74 21.01
BRI BAL m3 0.34 0.25 0.34| 3853 0.34 1.87 0.58 2.55 43.20
BRI AL m3
‘iuonT T BAVTIY) (=) m3 0.59 0.43 057| 65.37 0.56 3.08 0.81 3.58 72.46
‘ionT T BV 1 (2R m3
(FBET)
SEUIT t=20cmlUTF (—R) m 2.00 1.46 2.00| 22937 200] 11.11 2.00 8.85 250.79
SEUIT t=20cmlTF (ZR) m 2.00 1.46 2.00| 22937 200] 11.11 2.00 8.85 250.79
FARAI7ZIVEBUEL | 7REE (—R) t=4cm m2 0.60 0.44 0.60| 6881 0.60 3.33 0.60 2.66 75.24
FRIZZILEBUEL  |[FREE (ZR)  t=4cm m2 1.20 0.88 1.20] 137.62 1.20 6.67 1.20 5.31 150.48
BtasT TAREA VT R9) t (—R) m3 0.02 0.02 0.02 2.75 0.02 0.13 0.02 0.11 3.01
BtasT TAREA VT M9 t (ZR) m3 0.05 0.04 0.05 5.50 0.05 0.27 0.05 0.21 6.02
*BI B #i13Top,t=4cm(— ) m2 0.60 0.44 0.60| 6881 0.60 3.33 0.60 2.66 75.24
*BI B & H113Top,t=4cm(=R) m2 1.20 0.88 1.20] 137.62 1.20 6.67 1.20 5.31 150.48
BiE T RC-30 t=10cm m2 0.60 0.44 0.60| 6881 0.60 3.33 0.60 2.66 75.24




g Kfy == s
AREBETTITHEFAEE(IMmHY)
ITT-HET HSHEE +I®
I3 g ImB Y | ZOHhETE (GEiE) AEA TEHE R mEE
EHITE m 0. 600
Y n | 0800
o 1E m| 0125 ¢100 mm HPPE ARETT
— R
S [As t=dom n | 2 000 100 « 2
—R +TITD
aE g — U
MEGWE s t=don n | 2 000 100 2 —
P =]
SIS L [As t=dom w | 0600 0.60 * 1.0 TORNS
=% e e
ix= —
%_ﬁ;ﬂ)liil, As t=dcm w | 1200 120 % 1.0 AL T tden 29z ot
“ BETHEAs (13
BtiEl |7R# | 0024 060 x 0040 x 10 - HEEE
RtEf |7 @ w | 0.048 1.20 % 0.040 * 1.0 ' °
Py g L
MRS ns | 0,501 0.60 * 0 985 1.0 CIpe
= 2
#ET  |@ | 0.183] ( 0.60 x 0325 - x/4 % 0.125 ") 1.0 g g 5 . _ 5
= TR g
_ e
BET @At n | 0336 0.60 * 0. 560 1.0 i;m_ =5
#ET  |mEt n3 : ’
BER |t® ns | 0591 600 =
= BEEHEAS (1D
REL t=4cm m2 0. 600 0.60 x 1.0
=3 BEEHEAS (1D
£BIT  |tdon n2 | 1.200 1.20 x 1.0
—Z BHEY799%-3v (RC-30)
BREET t=10cm m2 | 0.600 0.60 * 1.0
TI -SRI HKEHEE )
T3 g ImB Y | ZOHETE (EE) ER TREZERERX
{EAIE n | 0600
Y n | 0800
EIE n| 0090| 50 mm HPPE ARELT
SO [As t=dom n | 2 000 100 2
=3 _
SO [As t=dom n | 2000 100 + 2 e )
— HPPE ¢ 75 DP.=0. 80
SHEERE L|As t=dom w | 0600 0.60 * 1.0 Tofard
=R {EH__BE
P —
%_ﬁ;ﬁyiib As t=4cm w2 | 1.200 1.20 x 1.0 I o teton
“ FiEEAs (13
BIER |7RB ns | 0.024 0.60 * 0.040 1.0 - BEEHEAND
BLER |7AB | 0048 1.20 % 0.040 1.0
e =
AR A m3 [ 0.570 0.60 * 0.950 1.0 {mAI igﬁ)\
L= ! |
#ET  |p m| 0168 (060 * 0290 - /4 % 009 "2 1.0 g g e .
s ;= E
BET @A+ w3 | 0336 0.60 * 0.560 % 1.0 = =
L b® 2 g
HBRET AL n3 |
BLER |t® s | 0.570 600 g
= BEEREAS (19
FBL  |t-dom w | 0600 0.60 * 1.0
R BHEBEHEAs (13)
FEL  |t-dom w | 1200 120 * 1.0
—R B4EH79%-77 (RC-30)
BT |t-100m w | 0600 0.60 * 1.0




ARETIHEFEE(IMmEY)

TT -HET BEHEE )
IiE gl im Y | Z O HhETE (i) HER ERIZEHER
HEAIIE m | 0.600
T#HY m | 0.800
ENE m | 0.065] @50 mm HPPE ABELT
— K
SEYIEF  |As t=4om m | 2.000 1.00 * 2
K
SEYIEF  |As t=4om m | 2.000 1.00 * 2
—7 +TR
S ERiE L |As t=4cm m2 | 0.600 0.60 * 1.0 PP 550 DP-0 30
:ﬁ £ O hTE
%_ﬁ;muzt, As t=4cm m | 1.200 1.20 * 1.0 _—
BLE |TRE m3 | 0.024 0.60 * 0.040 * 1.0 SHEEUE LT t=4cm FBIT t=dem
= BAEGHEAS (13)
RLER (7R m3 0.048 1.20 * 0.040 * 1.0 =
MR Bl m3 0. 555 0.60 x 0.925 x 1.0 ﬁ:ﬁ M}Li :915
g o
HEL 13 m3 0.156] ( 0.60 * 0.265 - m/4 x 0.065 "2) *x 1.0 2 | o
BET @A+ m | 0.336 0.60 * 0560 * 1.0 ik @_ﬂ‘; g
#BET  |®A+ n3 — p# 2
RAERE (R m3 0. 555 |
—R BEEHEAs (13) 600 =
RET t=4cm m2 0. 600 0.60 x 1.0
- BAETHEAs (13)
REL t=4cm m2 1.200 1.20 *x 1.0
- 49799457 (RC-30)
BRAET +=10cm m2 | 0.600 0.60 * 1.0
TI-EET HEHEE +TI@
IiE g 1m3 Y | Z O ETE (i) HER EHIE TR
A= m | 0.600
T#HY m | 1.200
ENE m | 0.09] 50 mm HPPE AHELT
SE UM |As t=4cm m | 2.000 1.00 x 2 +I@
=7 HPPE ¢ 75 DP=1.20
SHEEUIET  [As t=4dcm m 2.000 1.00 * 2 b ATiE
—Z Bt
SHEEEE L|As t=4cm m2 | 0.600 0.60 * 1.0
=7 SHEEHUE LT t=4cm REL E:4cm
SHEEEE L |As t=4cm m | 1.200 1.20 * 1.0 BERHEAs (13)
—& =
BIEW | 7R m3 | 0.024 0.60 * 0.040 * 1.0 |
=X i) M =
BLIEW | 7R m3 | 0.048 1.20 *  0.040 * 1.0 tir iﬁ)\i
AR Al m3 | 0.810 0.60 * 1.350 * 1.0 |
(=
(= . f=
BET (R m3| 0.168] ( 0.60 * 0.290 - w/4 * 0.09 "2) % 1.0 R | £
BRI |mAt m| 057 060 x 0960 x 1.0 - 5
|z=> I
HRET bkl m3 | I P T :? =
LB |8 n3 | 0.810 i
— BEFTHEAs (13) 600 g
Ed = t=dem m2 | 0.600 0.60 * 1.0
R BHEBEHEAs (13)
®EBL t=4om m2 [ 1.200 1.20 * 1.0
—R B4EH79%-77 (RC-30)
BT =10cm m2 | 0.600 0.60 * 1.0




ARETIHEFEE(IMmEY)

TT-MET ¥EHEE N G))
I | 1mB Y | Z O HhBrE (FHiE) AEA TREIEENER
HREINE m 0. 600
Y m | 1.200
ENE m| 0065 #50 mm HPPE ABRELT
—R
%iﬁfp*ztﬂ&ﬁ As t=4cm m | 2000 1.00 2 +T®
25 3£ 1] 1Y - HPPE ¢ 50 DP=1. 20
iﬁ?z Il |As t=dem m | 2000 1.00 2 450 Pt
SHEEUE L [As t=dcm m | 0.600 060 * 1.0 EE__tEE
R
o _ SRR LT t=4cm EBI t=4cm
%;Hﬂiﬂb As t=4cm m2 1. 200 1.20 * 1.0 - ] BETHEAs (13)
BLER |7RB m3 | 0.024 0.60 * 0.040 * 1.0 S |
BIEf |78 | 0.048] 120 x 0040 % 1.0 e 3
. HEHl AL
BT A ms | 0.795 0.60 * 1.325 % 1.0 !
BET @ m | 0.156| ( 0.60 % 0.265 — ;/4 % 0.065 "2) * 1.0 g o : g
BET  |mA+ w| 0576 060 x 0960 x 1.0 17 b
g b =
#ET  |mEt n lz== =
12 s
BiE |[+8 m | 0.795 b %
— BEEMEAS (19) | -
REL t=4cm m2 0. 600 0.60 x 1.0 600 =
=3 BATHEAs (19)
EBIL  |t=ten m2 | 1.200 1,20 1.0
—Z BHEY799%-3v (RC-30)
BRAET t=10cm m2 | 0.600 0.60 * 1.0
TI -HET HEHEE +T
IiE g Im Y | 3FRETE (FEE) HER HEHIE X W R
FirdIL m
T#Y m
o m $50  mm HPPE ABRELT
SR |As t=dom n | 2.000 1,00 x 2
S |As t=dom n | 2000 100 + 2
-
SHEEEIE L |As t=4cm m2 * 1.0
R
SHEEEE L |As t=4cm m2 | 0.600 0.60 * 1.0
—R
BHER |[7RE m3 x 0.040 * 1.0
BLER |7AB m3 | 0.024 0.60 * 0.040 * 1.0
HEABIE I m3 % 0.923 % 1.0
BET  |® m3 ( x  0.363 - w/4 x ") % 1.0
BET  |@AL m3 x  0.460 * 1.0
BRI KAt n3
LB (LR n3
—3 B THEAs (19)
KBTI t=4cm m2 * 1.0
R BHEBEHEAs (13)
£BT  |t=ten m | 0.600 0.60 * 1.0
—R B4EH79%-77 (RC-30)
WA T +=10cm m2 * 1.0




3. AmiaKERER




#oHRE =R

SIKI & B
b | EENN HOH % % B # £ s
T E AT %|E FE AT E &[T T F #|T T E g TFEM | T E &
RYECEBE) ¢ 20 (ER&E) m | 14.600 14. 600
H KL KEE HPPER ¢ 75x20P r 3 3
SRRV Ay R ¢ 20 i 3 3
CPA-4-A" Yy} ¢13%x20 6 0° OV r 3 3
R kA S13 (/Y FLR) £ 3 3 R
HEERT— W=150 m 5.900 5.900
Or—F4 2904 ¥— m | 14.600 14. 600
#

#




BIRER

$SIKI & H
IfE|a3—F 7 OB £ L - - By & = i)
FHRAERRERREERZEFAMEFTRTRRMEE REEREEHR
RYEREZT 920 (=) m | 14.600 14. 600
i} Y RILKEEAT P75 %20 Uiz 3 3
RYERFT 620 =] 6 6
HERFT 920 (B LIAHER) Uiz 3 3
HEMFT 913 (R LAHER) Ui 6 6
BERR—FT m | 5.900 5. 900
Q=T 42974 Y—HHxET m | 14.600 14. 600
I
£ Bl T T (—Rx m3 3.99 4
* 2Bl T T ® =R m3
BRI ik m3 0.80 1
BRI BAL m3 1.98 2
BRI pid;: e m3 0.85 1
I BiusT + . 8uy t (—R)| m3 3.14 3
BEUIET t=20cmP T (—&) m | 11.80 12
VIR T t=20cmAF  (ZR) m 11.80 12
FAIZ7IL FBUEL TR (—R) t=4cm m2 3.54 4
] TFTAI77ILAEBUEL TFARE (ZR) t=4cm m2 7.08 1
BionT TARE, VT b0t (=) m3 0.14 0.1 0.33 t
FiasnT TARE, 4 V7 Myh ¢ (ZR) m3 0.28 0.3 0.66 t
=B I BEZ4i113Top, t=4em (—R) m2 3.54 4
EEXI B EHi13Top, t=4cm (=) m2 7.08 7
BT RC-30 t=10cm m2 3.54 4
3







2RI # HE] ;i
ABRHR &
a—F E E 14.60 14.60
# H 2 o - Bl L

RYECEBE) ¢ 20 (#RE) m 1.00 14. 60 14.60
H Lo Kkie HPPER ¢ T75x20P i 3 3
SIEKERY 7Y b ¢ 20 A 3 3
CPA-4-A" Y} $13%x20 60° MY A 3 3
{5 E B AE k48 H13 (N FLRE) # 3 3
BEHERT—F W=150 m 5.90 5.90
OFr—F4 29745 — m 14. 60 14. 60




KT RS
ARR#R

TIERE —R&RHER (m) HWKEER
% Bl [#AKBEES| AR | AER |[HRKER(LI@ 2TO 2N (m) |f#
KD $13 @75 ®20 0.5 2.0 2.5
Kk 13 @715 ®20 2.1 2.1 5.4
KO 13 @75 ®20 2.1 4.0 6.7
it 5.9 8.7 14.6




2T TIHERE
X5 (ATEEE) +I® +I®
E E H=0.80 H=0.80 & F
L= 5900 L= 8700 L= L= L= L= L=
a—FK & W % By (BuH%E H 8 |BEus 2 |BuHE £ |BHE £ |BHE £ B £ | B =
#iE 8l T T8 =R m3 0.53 3.14 0.10 0.85 3.99
£ El T T CR m3
BEI JE m3 0.14 0.80 0.80
HRET BAL m3 0.34 1.98 1.98
EREI AL m3 0.10 0.85 0.85
BIusT T BAVIIIY t (=) m3 0.53 3.14 3.14
BiusT T ®BAVIIIY t(ZR) m3
(FET) FRI7ILE
SHETIMT t=20cmHTF (—R) m 200 11.80 11.80
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